package lab6;
public class Quick 
{

static int comparisonCount = 0;

static void resetCount()

{


comparisonCount = 0;

}

// partition arr[left..right]

// input: left, the left index of the section to be partitioned

//        right, the right index of the section to be partitioned

// output:  i, the partition point

// note: rearranges the values in arr[left..right] so that 

//      after returning:

//      (1) all values in arr[left..i-1] are <= pivot

//      (2) all values in arr[j+1..right] are >= pivot

static int partition(int[] arr, int left, int right)

{

}

// recursive quicksort method

static void quickSort(int[] arr, int left, int right) 

{

}

// public, non-recursive interface for quicksort

// input:  A, an array of type int

// output:  the comparison count

// note:  A will be sorted into ascending order

public static int sort(int[] A)

{

}



// commaSeparated

// input: A, an array of type int

// output: a string which lists the elements of A, with commas

// between adjacent elements

public static String commaSeparated(int[] A)

{

}

public static void main(String[] args)

{


int[] A = 


{431,26,242,68,203,43,100,174,24,695,43,266,24,687,20,438,100,179,24,609};


System.out.println("Before sorting, the " + A.length 




+ " elements are A = \n"+commaSeparated(A));


int c = sort(A);


System.out.println("\nAfter quicksort, which used "+c




+" comparisons, A=\n"




+ commaSeparated(A));


System.out.println("\nSelection sort would have needed " 




+ ((A.length)*(A.length-1)/2) + " comparisons");



}
}
